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Is it not so; that he is preoccupied for he needs to be %7va

OVERVIEW

7o 21 cited a mwn which states that a 07 is exempt from reading the ynw up to
v"x¥m if he did not consummate the marriage. 101 27 assumed that he is exempt
since he is preoccupied with the 79°va. Our Mo0IN explains why previously X211 was
able to establish a similar 771w» that it excludes naw, but not here.

mooIn responds to an anticipated difficulty:
= DAY NN TY 9109 1N 12 ONT 959595 Nawm 935 MIYY XY XN

The X 1) could not have answered here that when the 71wn stated w"¥m 7 it
meant except for naw as X217 answered previously, for if indeed this is what the

71w means, then he is not 9wd until W' X%, since he is obligated to read the ¥y»w on 9°%
naw -
= DAY INSHN 1Y 1D 9097 AWV NINY MY NNWN XD

And you cause the Xin to be mistaken for the Xin exempted him all the days

until @'"'2m -
- NaAYa YyarnY '8N N9 navn 9ab 199N % 199N Yryh HaN

However previously (in the mwn of m>°% '7) even if we assume that it means =2%

nawn and he cannot be »¥2 on naw -
- ©9INA D72 PN NIV IRDHNY 1T DIYN NAY IREIN 1Y VPI XPYT ©IPN Yo

Nevertheless the Xin intentionally states @' 7¥ (and we do not make the Xin a
7Y by saying nawn 12%), because until w''$1% we are 299102 272 779N in a case —

1992) *92y1 X9
Where he transgressed and was 9°¥32 on naw 7.

SUMMARY

It is not possible to say nawn 127 here because we make the Xin a 7w, however we
do not make the Xin a nyw regarding the mwn of 0°9N2 17 since it can be
discussing a case of Hv21 72y.

THINKING IT OVER

! Previously, on the top of this T»y. In a sense it would be easier to interpret this 73wn to mean nawn 725 (than the
mwn of Mm% '7), since in this 7awn he does not mention M2 '7 (as in the other 71wn), only w"¥m 7v.
% See “Thinking it over’ and ‘Appendix’.

1

TosfosInEnglish.com



XD °X2 7"7'010 2,0 N12I05 .7"02

MooIN states that even if we maintain nawn 723% it is necessary to say w"¥% 7¥ in a
case where 5v21 72v.” If indeed this is so then how did we refute X2 that it cannot
mean Nawn N2 since it says w"¥w 7Y M5 "7 perhaps that means if he was ¥21 72y,
but not that you may be 7102 nawa »»2?*

APPENDIX

moon answers that by 0°21n2 07 we can say that the Rin is not a 7w for saying 7
w"¥n since it refers to a case of 9¥2) 72y. Seemingly there is no need for 'on to
establish it in a case of v21 7av. There is a difference between the two nvawn.
Regarding the 7wn of w"p we cannot say nawn 12, since the miwn states that he is
v"pn Muo until w"¥n; however if it means Nawn 125 then he is 2°°11 on N2W, so how
can you say w"¥m 7v w9, In the mwn of o°21n2 07 however we can say that we
grant the 0902 a7 for four nights until w"¥w, except for Naw, meaning that for
three of these four nights (excluding naw) when he is %12 we are 2°21n2 072 79N.
Where is the difficulty?!

Perhaps we can say that the view of nawn 12% (that of X27) assumes that w"%w ¥
teaches us that it must be oo%7.> However, it cannot be D°91¥7 (which must
include naw) and nawn 92% (which excludes naw and disrupts the 2°m%9), if it
extends until w"¥m. We are again making the Xin a 7yw. Therefore '01n needs to
answer that there is a possibility of 2°51¥1 (even if we maintain naw» 927) because
we are discussing a case of 2y21 72v.°

? See footnote # 3.

* See A R"wA.

3 See xn 11"7 K, 'O,

% See (however) mn MX X2 1 who interprets M>° '7 to mean NM>¥2 '7.
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